RN RNRNNNRN = — o o o o e o e o e o e o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e

R # B ISR B & BA E % B8 & | B | A8BARXF | 2BARX+
MER| ONGER HA | km | XA 28 w = | ue B
(M=W) | UNER2#HT) | (+--) | (RA-2%2f) |B H A | ENE- ZERBE| E0E- BBk

=] 60m M40 7.67 +1.0 BA AB KE$ | 0.75kg| 1500 (+-)-1.0
BE 60m M24- 725 | +28 |BA BT 1

E:] 60m M24- 7.37 | +2.8 |{FEE X&E 2

E:l 60m M30 754 | +28 |[E&/I & 1

E:] 60m M30 770 | +2.8 |Et8 FlE 2

E] 60m M30 771 | +28 |[RIE ) 3

E:] 60m M30 DNS AR g%t

E:] 60m M35 8.19 | +24 |ERE H#t 1

E:] 60m M35 876 | +24 |FHiE TF 2

E:] 60m M35 743 | +24 |JIAX E£— op

E:] 60m M40 825 | +24 |REA HE 1

E:] 60m M40 752 | +2.4 M {#{E op

E:] 60m M40 DNS Z2H 8%

E] 60m M45 732 | +2.2 |{FEE E—BB |1

E:] 60m M45 774 | +23 BNl FA 2

E:] 60m M45 7.91 | +2.3 |RER Al 3

E:] 60m M45 822 | +2.2 |KiE AKX 4

E:] 60m M45 8.26 | +2.2 |tH# ZBj 5

E:] 60m M45 832 | +2.3 |KL 6

E:] 60m M45 833 | +2.2 |¥AHF REHE 7

E] 60m M45 844 | +23 |WH BE 8

E] 60m M45 848 | +22 |H#t & 9

E] 60m M45 862 | +2.2 |fME = 10

E] 60m M45 8.65 | +2.2 |JEH H= 1

E] 60m M45 869 | +23 |PEH KB |2

E:] 60m M45 DNS IV =E]

E] 60m M45 DNS XK EE

E:] 60m M50 860 | +1.5 |#EH & 1

E] 60m M50 942 | +15 | K& F— 2

E] 60m M50 DNS FEE XE

E:l 60m M50 DNS #A RE

E:] 60m M55 8.36 | +20 [BE MR 1

E:l 60m M55 9.38 | +20 |#lL EE 2

E:] 60m M55 DNS =i 7

E] 60m M55 DNS A =

E:] 60m M60 897 | +0.8 |HI 18K 1

E:l 60m M60 DNS FR Flth

£z 60m M65 847 | +08 |BA XK 1 GR
E] 60m M65 9.22 | +0.8 |BER A 2

E:] 60m M65 DNS EH ER

E:l 60m M65 DNS 515 HE

E:] 60m M70 946 | +1.0 |&AK BB 1

E] 60m M70 DNS A fE

£z 60m M75 9.61 | +1.0 Ak Bz 1| KMGR
E:l 60m M75 1297 | +10 |& Hix 2

E:] 60m M80 1270 | +1.0 [#AK SER 1

E:l 60m M80 1396 | +10 |BW fBE— 2

E:] 100m M24- 11.24 | +24 @A BN 1

E] 100m M24- 11.48 | +24 1Bk X& 2

E:] 100m M24- DNS FiE ER

E:] 100m M30 11.79 | +24 [ BB # 1

E] 100m M30 11.93 | +24 |KH # 2

E:] 100m M30 1203 | +2.4 |Et8 FlE 3
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E:] 100m M30 1212 | +24 |RIE ) 4
E:] 100m M30 DNS AR &t

E] 100m M35 1152 | +1.4 |#A Sk 1
E] 100m M35 11.95 | +1.4 [FN @A 2
E] 100m M35 1258 | +1.4 |8 EA 3
E] 100m M35 13.02 | +1.4 [IUAX HEmR 4
E:] 100m M35 13.05 | +1.4 |EERE H#t 5
E] 100m M35 1340 | +1.4 |FER T 6
E] 100m M35 11.95 | +1.4 |JIIK E£—

E] 100m M40 1257 | +15 |®E F0Bf 1
E] 100m M40 13.00 | +15 [$&H# ERE 2
E:] 100m M40 1318 | +15 |[FH HE 3
E:] 100m M40 13.94 | +15 |+ =EA 4
E] 100m M40 11.66 | +1.5 |[R# &% op
E] 100m M40 11.99 | +1.5 |#MA #E op
E:] 100m M40 DNS 2H 8

E] 100m M45 1142 | +2.8 [Pk #E—B |1
E] 100m M45 12.27 | +25 |EJIl FEA 2
E] 100m M45 1257 | +2.8 |ARER H£A| 3
E] 100m M45 1278 | +25 [KEB XK 4
E:] 100m M45 13.16 | +25 [Fl 5 5
E] 100m M45 1321 | +2.8 [E# BE 6
E] 100m M45 13.49 | +25 [#¥AH FRE 7
E] 100m M45 1354 | +2.8 |AJI & 8
E] 100m M45 1371 +28 |JEE ¥EH 9
E:] 100m M45 1379 | +2.8 |&#t =F 10
E 100m M45 1384 | +25 |\ = 11
E:] 100m M45 1403 | +2.8 FLH FE |12
E:] 100m M45 DNS BIA FX

E] 100m M45 DNS ESREES

E:] 100m M50 1311 | +26 |& —H& 1
E:] 100m M50 13.67 | +2.6 |#d & 2
E] 100m M50 1402 | +26 |&% 1B 3
E:] 100m M50 1511 | +2.6 | K& =— 4
E] 100m M55 13.03 | +2.3 |=11 H7A 1
E:] 100m M55 1317 | +2.3 [BE HER 2
E:] 100m M55 1532 | +2.3 | Kf & 3
E] 100m M55 DNS #H =

E:] 100m M60 1348 | +3.3 |#H% 2 op
E:] 100m M65 1357 | +3.3 [lufh & 1
E] 100m M65 14.90 | +3.3 |BkE X 2
E] 100m M65 DNS EHx ER

E] 100m M65 DNS S5 ME

E] 100m M70 15.20 | +2.1 | Kl R 1
E] 100m M70 1559 | +2.1 |[&AK {8} 2
E:] 100m M70 DNS A #E

E] 100m M75 15.27 | +2.1 |3k B2z 1
E] 100m M80 21.96 | +21 [#AK FER 1
E] 200m M24- 2756 | -03 [Pk BEX 1] KMGR
E] 200m M30 2343 | -03 | BB 1
£z 200m M30 2406 | -0.3 |AH #% 2
E] 200m M35 2389 | -03 [#H ¥ 1
E] 200m M35 28.08 | -03 |FHIE EF 2
E] 200m M35 2695 | -03 |JIIA E— op
E:] 200m M40 2688 | +0.2 |{EH B 1
E:] 200m M40 23.67 | +0.2 |[LEE op
E:] 200m M40 2520 | +0.2 |/K% [E op
E:] 200m M40 DNS Z2H 8%

E] 200m M45 2309 | +0.2 |{REE #E—BF |1
E] 200m M45 2848 | +0.2 |RiIH =X 2
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E:] 200m M45 DNS XK EZF

E] 200m M50 2948 | 0.0 |[giH #0th 1

E] 200m M50 2982 | 00 |B& & 2

E:] 200m M50 31.73| 00 |XK& F— 3

E] 200m M55 2780 | 00 |[B=E BR 1

E:] 200m M55 DNS #H =

E:] 200m M60 2813 | 0.0 |#A%F &2 op

E:] 200m M65 28.19 | 05 |ludh EHE 1

E:] 200m M65 2829 | -05 [BX & 2

E] 200m M65 3248 | -05 |35 e 3

E] 200m M70 DNS PN

E:] 200m M75 3289 | -05 gk Bz 1] KMGR
E] 200m M75 4095 | -05 |Eff X 2

E] 200m M75 50.98 | -05 |& #ik 3

E] 200m M80 4581 | -05 [#a& FER 1] KM,GR(EI)
E] 400m M30 52.35 BR8N 8 1] KMGR
E] 400m M40 55.66 KE LE op

E] 400m M50 DNS B<F &a

E:] 400m M55 DNS = 7

E] 400m M55 DNS IERE-FS

E:] 400m M65 1.09.95 e & 1 GR
E] 400m M65 1.26.65 =i & 2

E] 800m M45 2.33.14 BH EX 1

E] 800m M50 2.18.05 B<F &a 1

E:] 800m M50 2.28.11 =il —35h 2

E:] 800m M50 2.31.95 B fnth 3

E] 800m M50 DNS FEE XE

E:] 800m M55 2.31.08 IIERE-FS 1

E:] 800m M55 2.43.29 I 28 2

E] 800m M65 2.50.45 =g & 1

E] 800m M75 3.18.23 B o= 1

E] 800m M75 3.21.58 ER BX 2

E:] 1500m M25 5.32.20 Bl Eth 1| KM(&1),GRGEI)
E:] 1500m M30 DNS B8 FRAEA

E] 1500m M35 5.36.13 ME K& 1

E] 1500m M40 DNS g RE

E] 1500m M45 4.48.08 #T &R 1

E:] 1500m M45 5.10.87 TEIE 3% 2

E] 1500m M50 4.49.28 B<F 5A 1

E:] 1500m M50 5.05.02 =il —38h 2

E] 1500m M50 5.28.45 thE H— 3

E] 1500m M55 5.12.54 BE BEA 1

E] 1500m M55 5.30.68 Tk 8 2

E] 1500m M65 5.51.80 BiE & 1

E] 1500m M75 6.46.64 B X 1

E] 1500m M75 7.06.21 ER BX 2

E] 3000m M30 9.54.26 FEHE ER 1

] 3000m M45 9.40.97 TH &=E 1| KMGR
E] 3000m M45 10.14.75 BH EXRE |2

E:] 3000m M45 10.36.52 #Tr &R 3

£z 3000m M45 10.40.78 = B 4

E] 3000m M45 10.46.85 BH EX 5

E] 3000m M45 DNS #E —8h

£z 3000m M50 10.07.30 AR XKBE 1

E] 3000m M50 10.45.01 #F =z 2

E:] 3000m M50 11.05.57 AR —HB 3

E] 3000m M50 11.49.92 B Foth 4

£z 3000m M50 12.21.77 A HE— 5

E] 3000m M55 11.27.81 BE A 1

E] 3000m M55 DNS Ik 8
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25
25
25
25
25
25
25
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E:] 3000m M55 DNS IR EB

E:] 3000m M60 13.30.77 kR JE— 1

E:] 3000m M65 13.15.16 =5 & 1

E:] 3000m M75 15.04.18 B g 1

E:] 3000m M75 DNS EfR &X

3B EE Bk M45 1.75 B %= 1| =KM,GR
3 E =Bk M45 1.75 ity Z87 2| =KM,GR
3 E =Bk M55 1.55 A BE 1] KMGR
3 E =Bk M60 1.30 =97 HE5 op

3 E =Bk M65 NM TR &

3 E =Bk M70 DNS PN

3B E= Bk M75 1.10 i R 1 | KM(BI),GRGEID
5 ENEBE M24- 6.16 | +1.2 [ty Hih 1| GRGED
3B ENRBE M25 DNS s X

3B ENRBE M45 496 | +0.7 |EHA B 1

3B ENRBE M45 464 | +22 [/ME =T 2 462 +0.6
3B ENRBE M50 549 | +2.2 |&JII 1 5.30 +0.3
3B ENRBE M50 494 | +03 |#HFA =& 2

5 EE Bk M50 441 +20 |B& 1B 3

3B ENRBE M55 477 00 |& MH 1

3B ENRBE M55 392 | +1.6 [l FH 2

3B ENRBE M60 448 | 00 |[HEIL E8 1

3B ENRBE M65 405 | +06 | XA FA 1

3B Rk M75 387| +1.7 |ZW R 1| KM(&1),GRGEI)
3B =Ex Bk M24- 11.98 | +0.8 [t % 1 | KM(BI),GRGEID
E:] =Ex Bk M45 11.48 | +2.8 [tHd ZBf 1 11.33 +0.2
E] =Ex Bk M45 9.16 | +1.3 |[#a3 RERE 2

3B =Ex Bk M45 9.06 | 00 |MLBEH F‘E |3

5 =Bk M45 DNS Ke Ef

E:] =Rk M50 1025 | +0.6 |&JII $R 1

3B =Ex Bk M55 1038 | +0.7 [FBE BHER 1

3B =Ex Bk M60 10.32 | +1.1 |EIL {E® 1] KMGR
3B =Ex Bk M65 872 00 |[XBH FA 1

5 =Bk M70 DNS PN

3B =Bk M75 9.97 | +0.7 [)K® BUE 1] KM,GR(EI)
3B =3 M75 DNS £ R

8 STRERBE M24— 1452 | 00 [HHE £ 1 | NRKM(E).GR(I)
5 SLRERRE M25 DNS s X

3B STRERBE M30 1334 00 |AHA # 1 | KM(BI),GRGED
E:] SLRERBE M30 DNS WA &E&

£z STRERB M35 1456 | 00 |B)Il A 1 | KM(BI),.GRGI
] IR M35 1222 | 00 [IUA A3 2

] IR M35 1209 | 00 |FER Hwt 3

E:] SLRERRE M40 1308 | 00 |AE 088 1] GRCED
] IR M45 1291 | 00 |#3 BRE 1] GRC&D
£z STRERB M45 1219 | 00 [/MA =F 2

£z STRERB M45 1181 00 |EHE = 3

£z STRERB M45 11.78 | 00 |§IH FEX 4

] IR M45 1168 | 00 |FIZFH FE |5

] IR M45 11.38 | 00 [fI&ER = 6

] IR M45 DNS Ke Ef

E:] STRERB M50 1325 | 00 [RJI & 1| KM,GR(EI)
5B SIRERRE M50 DNS FEE XE

£z STRERB M55 1336 | 00 [& ME 1| KM,GR(EI)
5 SIRERRE M55 DNS FH ¥

3B STHRERRE M60 1255 | 00 |HL {8 1] GRC&
3B SRR M65 11.15] 00 |[XA FA 1] GRC&
3B STHRERRE M65 1093 | 00 (B HfE 2

£z SR BB M75 1054 | 00 % R 1 | NRKM(ED.GRED
] STHRERRE M80 746 | 00 |#AA SER 1| KM(&1),GREEI)
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26
26
26
26
26
26
26
26
26
26
26
27
27
27
27
27
27
27
27
27
27
27
27
28
28
28
28
28
28
29
29
29
29
29
29
29
29
29
29
29

N RRN = = o o o o o

3B At M45 7.79 FIER = 1 7.26kg
3B At M50 9.55 ™It FE 1 6.00kg
3B At M50 9.54 HMH =T 2 6.00kg
3B At M50 8.46 45F FREH 3 6.00kg
3B At M55 9.65 FE & 1 6.00kg
3B fatLi% M55 9.16 a5l #RIE op 6.00kg
3B ik M60 10.23 ff IF 1 5.00kg
3B At M65 7.55 djll IETH 1 5.00kg
3B At M70 7.64 FE B 1 4.00kg
3B At M80 7.79 TH 2 1 3.00kg
3B A% M80 DNS Bl 7 3.00kg
3B A& M50 34.04 H =T 1 1.50kg
3B A M50 26.45 4%E 3REF 2 1.50kg
3B A& M50 24.08 Mt i 3 1.50kg
3B A& M55 25.80 FiE & 1 1.50kg
3B [ E5T M55 24.48 a5l FRIE op 1.50kg
3B [ E5T M60 36.80 i IF 1 1.00kg
3B [ E5T M65 37.58 BX & 1 =GR 1.00kg
3B A M65 21.89 fJll IE/H 2 1.00kg
3B A& M65 14.08 il 'E 3 1.00kg
3B A& M70 20.91 FE EE 1 1.00kg
3B [ E5T M80 17.39 TH 2 1 1.00kg
3B k5T M80 DNS EIES 1.00kg
E] NI—1% | M40 41.33 i E—E [1] KMGR |7.26kg
E:] NoT—1 | M40 DNS Al —E 7.26kg
E] NoT—% | M45 33.59 HX E 1] KMGR |7.26kg
B Nov—#% | M50 33.83 HMH =T 1 6.00kg
B Nov—#% | M65 19.90 djll IETH 1 5.00kg
B Nov—#% | M80 DNS EIES 4.00kg
E:] »Y% M25 48.69 INAR B 1 0.80kg
5 Y M30 54.80 WA &E& 1] KMGR |0.80kg
E3] »PYE M35 45.94 p% a3 1 GR 0.80kg
E:] LY M45 35.06 R OFE 1 0.80kg
5 PYE M45 29.33 FIER = 2 0.80kg
ES »PYE M45 26.35 AR G 3 0.80kg
3B Y M45 44.04 iR #47 oP 0.80kg
3B Y& M50 37.14 LEE FRER 1 0.70kg
3B Y& M50 31.63 HMH =T 2 0.70kg
E3] »PYE M65 28.18 BEX % 1 0.60kg
3 Y& M80 DNS Bl F 0.40kg
S 60m W25 8.89 | +2.8 [ &F 1

=S 60m W35 10.09 | +2.8 & K= 1

E=S 60m W40 1050 | +2.8 |H™ {ETF |1

E=S 60m W40 10.65 | +2.8 [/ik HEE 2

S 60m W40 DNS H#E &

S 60m W45 9.41 | +0.7 M BHE 1

£ 60m W45 955 | +0.7 |Hull FE 2

E=S 60m W45 10.62 | +0.7 |8 #iF 3

S 60m W45 DNS %H ER

S 60m W45 DNS PR BHIEF

S 60m W45 DNS WA #iF

S 60m W50 9.31 | +20 |XJIl E£F |1 GR

= 60m W50 941 +20 |[EE BE 2

£ 60m W50 9.67 | +2.0 |tkik <HF 3

£ 60m W50 10.63 | +20 |lLO0 BHF 4

£ 60m W65 31.18 | +20 [iAfk EBF 1

% 100m W25 1447 | +12 [ &F 1 GR

£ 100m W35 16.71 | +1.2 &R K=E 1

£ 100m W45 15.25 | +1.2 [l FO0&E 1 GR
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'S 100m W45 1528 | +1.2 PR HELF |2

S 100m W45 1530 | +1.2 [38@ BHAF |3

S 100m W45 17.20 | +1.2 |83 #iF 4

E=S 100m W45 DNS WA #iF

S 100m W50 1483 | +24 [XJIl EX%E |1

E=S 100m W50 16.86 | +24 [lLO BF 2

'S 100m W65 21.16 | +24 gk EF 1

S 200m W45 31.82 | -10 [M BAF |1 GR

E=S 200m W45 3220 | -1.0 [Aly FIE 2 GR

x 200m W45 4051 | -1.0 |4¥@ #FR 3

S 200m W50 3233 | -1.0 [*kJII EX% |1 GR

E=S 200m W50 3285 | -1.0 |FHFlp YSF 2 GR

E=S 200m W50 3293 | -10 [EE BE 3 GR

% 200m W50 3296 | -1.0 |{k& <HF 4

E=S 400m W40 1.32.85 Hf EIF |1

% 400m W45 DNS SH OER

kS 400m W50 1.14.14 1k <HF 1

S 400m W50 1.16.63 =E MBF 2

S 800m W45 2.57.76 JEH =T 1 GR

x 800m W50 2.58.70 =E MF 1

x 800m W65 3.15.40 XF (b5 1

£ 1500m W45 5.47.03 WA BT 1]  GRCED

% 3000m W65 14.04.28 XF (b5 1

S =Bk W24- DNS FiE b

E=S EE Bk W45 DNS PR HF

E=S E= Bk W50 1.20 i USF 1 GR

E=S E= Bk W50 1.10 o &F 2

E=S EE Bk W50 2.20 R BT 1

E=S ENRBE W25 379 | 00 |HiH XRE 1| KM,GR(EI)

E=S ENRBE W45 395 | +1.9 M HEF |1

E=S ENRBE W45 364 | +09 |FIE HF 2

E=S ENRBE W45 DNS A #iF

X ENRBE W50 302 | +01 |tHdy BREF |1

% STRERRE W25 1047 | 00 | HF 1| KM(&1),GRGEI)

E=S SLRERBE W25 1033 | 00 |Hii5 RE 2

E=S SLRERBE W35 9.08| 00 [:&k Kk=E 1| KM(&1),GRGEI)

E=S SLRERBE W40 7.63 | 00 [/#k HEE 1| KM(&1),GRGEI)

% ST RERBE W45 911 | 00 |&H BHF 1 | KM(BI).GRGID

9 STRERBL W50 1039 | 00 |=E BAF 1 | KM(&I).GRGEI)

S STHRERR W50 1004 | 00 |#k#E <AF 2

k- [ REIR W45 10.12 EZIE BF |1 GR 4.00kg
E=S [ REIR W45 5.12 SH ER 2 4.00kg
k- [ REIR W50 8.49 i USF 1| GR(ED |3.00kg
X [ REIR W65 7.01 i EHR 1 3.00kg
k- [ REIR W75 7.05 Fi#EH BF |1 2.00kg
E=S ik W75 6.29 i RF 2 2.00kg
k- [ REIR W80 4.84 X% BF 1 | KM(8I),GR(EI)| 2.00kg
E=S (k5T W45 32.31 EZIE BF |1 GR 1.00kg
k- [ E5T W75 NM Fi#H BF 0.75kg
E=S No—1% [ W50 15.75 i USF 1 | KM(8I),GR(&I)| 3.00kg
E=S Noe—18% [ wes 18.24 i EHR 1 | KM(8I),GR(&I)| 3.00kg
E=S »PYF W40 29.54 Bl #EY 1 GR 0.60kg
k2 PY% W40 26.02 HLE HEF 2 0.60kg
E=S »PYH W45 25.02 2H BAF 1 0.60kg
= »Y W75 NM ik RF 0.50kg
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